=kt (4)  FIZREET UM

E@ﬁ 18

MIcNEET 2 UAFABCDIZB\WC, AB=.10 -1 BC=./10 +1 |

AD=1. LABC=60° 9%, ZOLE, ROLDZERD K,
(1) AC (2) ZADC (3) CD
(4) WAEABCDOIEN DAL R (5) WHEABCDOMHE S

S



EOZEFLETAHOOMEEIZ4EA, B, C. D BRZDOJEIZH 5,

A
D
W57 ABCDOI D R S 137 ZnAB=/T | BC=2J7 ., CD=43 |

DA=2/3 Th% %, LABC=0 . AC=x L5 &, B c
AABCIC#R LT, #=[7 A |—28cosb L7425, ¥/, AACDIZHER LT,

>
=15+ U= cosh L%, ko, cosﬂz\ r=y/[F7 oy, HOD¥#I

V[ 7 Jcoa. g mapABcDom = [V [Ths. Al r—FHB)

<HEE > MICNETHIUARO & XRE
(@ FLI—0FR xy=act+bd | (@ *BROSELERD S
AP:CP=AABD: ACBD

1 . 1 .
_?adsmA .7bcs1nC

=ad:bc
[kt BP:DP=ab:cd




